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Music (Western ) LII Three hours

weBme (gedln) / sndsid (CoamsngBswu) / Music (Western) 1

@)

(i)

(iif)

(iv)

[ wieBe gu/apsdiun/ Note :

Bog @ uantEd 88nd oo,
slevsoT ellaTb&sEnbemD allen HHb.
Answer all questions.

1-40 ez gelmde (1),(2), (3), (4) BEpuDBs HOE vl Dant agesm eul 8890 emidh mxlm.
1opmed 40 susmpujeiisn geubioursy ellemalsonn (1), (2),(3), (@) a6 sesdemlrnn L sfeo mefsh sflwmeng
SisbsoBl sl CQUTMBSIOTMG T FrIEeT SmESId @ almLamuls GoflaCFus.

From each of the questions 1 to 40, pick one of the altematives (1}, (2}, (3), (4) which you consider
is correct or most appropriate.

®80 wewm BEqor vged G O g wgws € 418 2D aneds’ 98 emich 0 BEned gumed ormetm
@i pe (X) cren ecgxsim.
2 wdheG alpmsi Bsten ol Ssrans @abeurm alamad@gn 2 flu el Lmseaisd z-_wgl

allemulelr Bevbshens @bD ulLSHHgueGen Lsiemgen (X) @Gas
Mark a cross (X) on the number corresponding to your choice in the answer sheet provided.

08 BEnd oyed Bhoe € 18 gen®w cuectd ¢ eSdco onlm.

el g merier L frdbe 5als0 - SrLL Galer wHmw e SHa0EmsTUD SIS, oIl Hdhds HaBamL
et .

Further instructions are given on the back of the answer sheet. Follow them carefully.

1. @ dmm mobio Olent owm egpsd 08t @S ¢?
GOTIL EEflall Lemiims Sieniosial | Nefien(heleeuBe sTE?
Which of the following is the function of a sharp?

2. ¢

(2) It lowers a raised note by a semitone.
(4) Iltraises a note by a semitone,

(1) Itraises anote by a tone.
(3) Itlowers a note by a semitone.,

315 @de eBglen B080 ¢das eddl Om sun ezl SDiBs pe ?

SIOUCfBeften Lnf snanl't Al UGSSEDES CHsnemune Gyatl Uaamaameibmer erg?
Which of the following rest is needed to complete the given bar?

3. 2

2 *
wo S T,
(1) Dotted Quaver rest (2) Demi Semi Quaver rest
(3) Hemi Demi Semi Quaver rest (4)  Semi Quaver rest

a18 @l S0 geg 088 BJeritds drier’ vwm S08s @ ¢?

SIUUL Baiten uny @il Gurgpdsoren b FEGardFy Lsienonsnauime sgi?
Which of the following time signatures will be the correct one to the given bar?

# : —3—
———p I ——
L2 © ;\:j: bi‘j:;&ig =
W 3 @ § @ 4 @ 3

[ 2 2:5 GO0 Desn. / udb. 2 g umidbs / See page 2
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10.

11.

4.

979 Budem et emdd 30 omdn 088 Sdesitded Feddl ol So Bed ¢?
LTy efle QLT Ll @8mmésm e mrede eopb AsBarssfan &Causiou] usbFad ahHSHemen Gpdb@n?
How many quaver pulses are there in a bar of the time signature, four dotted crotchet beats in a bar?

(1y 3 2) 6 3y 9 “4) 12

F 88mded ecdcds e@dced § 8desiDcs Eus B0 pfu son wcws’ Stilsl ndd ¢?
F anwerfléd fiGsumnist Goggflet &8 Hd:Censasny stapsnd #fluamen (e (NsienqheusnenBmisin 61517
Which of the following is the correct way of writing the key signature of the relative major of F minor?

“L‘;”‘ P !
0 HBE @ Pk G) B @ [
——— &2 0% b

[ 2]

C 88mded ‘G0 emid’ 9 Bl dodoun ‘BDwuid’ dw @) @ B, num sews SDilsl 80 deza
@3 ¢?

C eowsnfled ‘afigrit BT oyarsl Guwmy aGzelsd ‘Wpwen’ s GuTEpSTGW. ssuhslsnsabust Dibs
eroBmsn 61817 :

The ‘Leading note’ of C Minor is the same as the ‘mediant’ of a Major scale. Which of the following is the

scale?
(1) G Major {2y E Major (3) EP Major (4) D Major

gbedine »Owd VU8 2-3 wr 5-6 &40 god culedisld H3o wydes! snm eocws? Jods p@m
desced ¢f
Hersumenansubpisit abs erbCsedish, eiaubyraan (panpuisd 2-3,5-6 9dfl abaytiEensdaLulsd GFOGTTsTs
Bms@Io?
Which of the following scales would have semitones between the 2™ and 3 and 5% and 6% degrees in its
descending form?

(1) Harmonic Minor Scale (2) Melodic Minor Scale

(3) Major Scale {(4) Pentatonic Scale

oBe@ifs 88nl dedcen gulediBs w waBleuld gad ¢ 00 arinde qEedrient wwn gt | -

8083 rp®m ¢?

annfGuorafds mwe euGsalsd alLTELTalld, Flnfiguisin’ oy susubpsslaulsotar  sosuy  EenL Glsusr

etrewperemeumuus a1abled sm L fn’ Haieng?

Which of the following is the interval between the supertonic and the submediant of a Harmonic minor scale?
(1) Perfect 51 (2) Diminished 4% (3) Augmenied 5% (4) Diminished 5®

B &@8mded 5888 gutio:d embded swm wepsd JDldud @ ¢?

B emwoswflstr Llsngiond Lyl iebeongdi LTsienmeusmsuipis o157
Which of these is mot a Primary triad in B minor?

" . il)J . Hl'n
8 D o055 desteo oo 5O, E edDos Ba opdess

Basst D Gope erb@semsoll umBbGUTE, g Bihs SOGUTIDTE  DMOWHHHBHI

When you sing the scale of D major, the note g would be,

(1) Doh (2) Fah G) Te 4) Soh

V-1 8o 80 amoedm c0ifis enid) ded #00n vvn sownsl $08s3 ped ¢?
V7-1 g enpsudCung ev&elLiuGh CFrafls Gomgst soaufb LeTamaisnauiBmet og?
Which of these notes is omitted in the tonic chord when V7 — 1 is written?

(1) Root (2) 3d (3) 5t (4y 7h

—

[ 3 2 80P dexem. / ub. 3 gl unjsas / See page 3
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12.

13.

14.

15.

16.

17.

18.

19.

20.

e@® Dimsed Beddy Bod Bed 7
BeiaunbSngge0 aimmen FeolsOSB6 & siteen?
How many syllables are there in this sentence?
“Humpty Dumpty sat on a wall”

() 8 @ 9 3) 10 4 11

Deditnm 00 @i ctote wdn wrathe o= ¢?
@Cunallsit @ela@s Fwwrer SopdhCsul Hamsbamal wng?
Which oriental instrument sounds like the oboe?
(1) Esraj (2) Tampura (3) Horanewa (4} Nadesvaran

oD 66z J0i8s €00 nors Bedsies) e@818: pewO ¢7
Lsirewmensreuimisii s1afleh coeiimy sTOGUTEISBEIT STammILEH?
Which of the following consists of three notes?

o F 2) A (B) o @ tr

oE&mD Bedsiend
&EJerfiBT  SAEOLHIENMHLILE
The auricle is in the
(1) middle ear. (2) outer ear, (3) inner ear. (4) cochlea.

voD 8GRy woedEE “egfensl @ ddn 8...." Bno gust Dxles! n@m0 ¢?
Heaumid BILShisailsd “LIGrower wenr Jehds Ge...” slsiim UTL a5bE 2 fHsTEin?

In which of the following plays is the song “Premayen Mana ranjitha We....... sung?
(1) Kalagola (2} Sakunthala (3) Rajathunkattuwa {(4) Maname

oo Daime®sl Bund enedm 08 gust Dulest
ST HLeabhHams HHHFleBILGD Bl
Gajaga Wannama depicts the gait of the
(1) Horse. (2) Elephant. (3) Hare. (4) Monkey.

200BOEE 008n e odn wielhe vum SHi8xs RO ¢?
BI_ShGeT0 LWSLBSSIL TG Fnassmal Llormeansiulst og?
Which of the following instrument is not used in Nadagam?
(1) Flute (2) Harmonium (3) Maddala (4) Tabla

ego® Buis wew Sewons Bo oytes
UCIrEATD @endhbEnan 8 HIFaOTSE SIEHUIGSEHE]
An example for Programme Music would be
(1) 1812 overture. (2) Clock Symphony. (3) Toy Symphony. (4) Moonlight Sonata.

uiOcHoD etdrinns Oles vwn Dids pe ¢?
@egl L GColsiierd syus isnsugl Llsiaimerarsuimsn sig?
Which of the following is an Interrupted Cadence?

| )
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(3) ¢ O © @ e o o
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7 ¥ z b el
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J

[ 455 800 Geam. / uk. 4 gt unjéa [ See page 4
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21. #cedn et il ndsles! cono wensl 95 wdm medis &?
SiEBIT &8 Sewen LLSTLGSSHIsuG e sihs Sensbamel?
Which of these instruments will use the Alto Clef?
(1) Cor Anglais (2) Violoncello (3) French Homn (4) Viola
22, ‘@diluwsd’ COm eMWME woBmiwr Drtert mEcss ¢f
‘Caursbl_Fay @enen eRHTH Bens E@GenT Wiy’
Which of these composers did not write ‘Waltzes’?
(1) Schumann (2) Johann Strauss (3) Debussy (4) Chopin
23. acdetiBewit: xfes e®@D8s! @ ¢?
BeuBmish 1Bl @y IELMWT @yepib?
Which of these is an oratorio?
(1) Eine Klein Nacht Musik (2) Ercica
(3) Messiah (4> Lohengrin
24. B8 woBm weFtnn® wiem @O Bmo Ba wides
i ipsvas @enFs@p UTBL @@ UTLEOTES SSHOUISHESS)
A song by the Beatles would be
(1) You raise me up. (2) Flow Gently Sweet Afton.
(3) Yesterday. {(4) When the Saints Go Marching in.
25, »&ed @ dend du 080 con e of neg g ¢7
Songl gburTensy STRGEBHINSHEG NLECETdenn BIoraisgeal wrf?
‘Who built a theatre to perform his own operas?
(1) Verdi (2} Schumann (3) Berlioz (4) Wagner
26. eoinDidn sef P00 O pI® e e ¢7?
OlFmenT L geimfed (L&HeoTeugl cpsuGloai’ efhs GuMist Signoub? -
In which form is the 1% movement of a Sonata? : *
(1) Binary Form (2) Ternary Form (3) Rondo Form (4) Sonata Form
27. Gewngdn Dindsl Dfens’ & 83xes vum wtns N8® emdets ¢?
Waiteumd bl Nflellst @amerdl g apedinflsy  oiglmenaisvmss LR &jssit Gl sei?
Which of the following sections of the orchestra has the most number of players?
(1) Percussion section (2) Brasswind section
(3) String section (4) Woodwind section
28, 2308 oo o Buind enmecies sovn Si8sl @S5 ¢?
Uileieumeusmaipiel s1Heil psorb Geumsdl s gpeiimy Ll eflewfldba Badmea?
Which of the following describes a Waltz ?
(1) - A French dance with 3 beats in a bar
(2) AViennese dance with 3 beats in a bar
(3) A Latin American dance with 4 beats in a bar
(4) An Argentinian dance form with 2 or 4 beats in a bar
29. nuivm dodens sdxiesiert soum wecwyl O Juatds &f
Nedreu@sld 6tthed LU cpaimmais eroaufohdlar rbllE@n?
Which of the following positions of a triad begins on the third note?
(1) Root position (2) First inversion (3) Second inversion (4) Third inversion
30. &B oS Driest com weons’ dDi8s! no ¢?
sieu(heusHsUBHIAT 6h 65 b ismiosudl sigy?
Which of the following is a Lied?
(1) Clair de Lune {2y Who is Sylvia? (3) Elijah (4) Bolero

[ 508 808 Ranm. / ud. 5 il LTSS / See page 5 i
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33.

M.

35.

36.

31.

32.

S

emBsigusioE / ewaBemSins pewd i neg miBos Dules! sun SD8s) @ ¢?
Lsireuqnerseumsts GlaTe gusiii 6 / GLmalGurefs (psmpuisd erpGLIL L Hsh e1gy?
Which of the following compositions is written in Contrapuntal / polyphonic style?

(1) Moonlight Sonata — Beethoven (2} Sonatain D —Schubert

(3) Prelude and Fugue No. 1 — Bach {(4) 1812 Overture — Tchaikovsky

ed8edwst eni® dens’ B waficr Drled vwn wewsl SD8xsY ot ¢?
Deraumerarsubpisi CeuflCwagsst GUTsHLDL LWSTLIBSSU siteT HIed siE?
Which of the following compositions is in Variation form?
(1)  Handel — Harmonious Blacksmith (2) Beethoven - Minuet in G
(3) Chopin — Minute waltz (4) Bach — Minuet in G minor

Mo sdned cleeuos embded onn wonzd SDiBs! e ¢?
HefloupouaTsupmis moler Gevsulsh L] SEHETBE o157
Which of the following is mot a characteristic of modern music?
(1) Chromatic Harmony (2) Syncopated rhythms
(3) Unusual sound effects {(4) More than one melody at a time

Gordedeeifio odm wredhius emBBes swm I8! @ ¢?
Ueiienqpeusrsubishi Lgrelr Gurdry @enghbamel DsLOTHHE 61517
Which of the following is a mon-transposing instrument?
(1) Piccolo (2) Double Bass (3) Trumpet (4) Oboe

‘In a singing style’ Bocone PO ewicm gl eag® v SBs 9@ ¢?
Mersumensnsupmisi In a singing style’ @er @enFenw CaisflILBSHMSBEL ISTUGESSIUGD BdbsHrelun] Lsib

o1’
Which of the following Italian terms mean to play ‘In a singing style’?
(1) Calando (2) Crescendo {3) Cantabile (4) Con Moto

36 80 40 80 5D galm swm € ¢ wdn Db @ ver® od. v ¥ :
36 Qzm s 40 susnnurer sflenTdHEsT STUUCL Benall QUWITIENL SIgliteDL UGS GlETemiLnet,
Questions 36 to 40 are based on the given extract of music.
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2 418 wolln deddds Sed» 8 o» dules’
syt (Geiten  @enall GLWTOL SEDOHHISTaT & Seug
The following music piece is in the key of
(1) F Major (2) B Flat Major (3) E Flat Major (4) G Minor

>
[ 6 &5 80D Dea. / udk. 6 g unjss / See page 6
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37, 208 wdnm detis ah.q Rescd Rn@s ¢?
@bs Besl Gl o _sTsmLBGh o6urm erg?
In which of the following operas is this music extract?
(1) Fidelio (2) Carmen (3) Lohengrin (4) Magic Flute

38. cBo dediis gbumed ¢ ewlsins con SH8s? @ ¢?
BenFl QuuA st @pslulst o siten Gesr sdier: LI sisuheusmsuBmsT o1g?
Which of the following is the cadence at the end of the music extract?
(1) Perfect (2} Imperfect (3) Plagal (4) Interrupted

3%. @@ aas chmm me BuBmwasr »EGS ¢?
Shg Gemall GuwTleny i@l HenFdEensoEh] WInT?
Who is the composer of this piece?
(1) Mendelsohn (2) Wagner (3) Mozart (4) Verdi

4. 2 B wobp aeite Digmo me g eSon
STOULBeiten BenFll GLrujrlenl Bensds Gonewtgus Gsusd
The given music extract should be played at the following speed
(1) Veryslow (2) Atawalking pace (3) Quick (4) Very fast

-~
[7 05 809 Oedle. / uk. 7 g uniss [ See page 7
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wBmw (audin) I 10
FRIES (Bwensusezsw) 1,11
Music (Western ) LI

2B (gesdiw) / sads (BusmsugBzsw) / Music (Western) 11
SGEDS oelmed oy 2O gdn aaoe B8nc 688 0hed B suanim.
e®® y&fm oprd BEno O MBS o8 wioio gui.
(pEeord aflemeyd@ Bogib preg ollanmsssnbglh BhHrelGsabu sien_Gmen aUpSHs.
el a@daTar aflenl ssnen @b Gomfuisd wrsATBe apsiHsd CousmiGid.
Answer question 1 and four others on this paper itself.
Questions should be answered in one language only.

\

[ Bwoo gozmne [ &GLed / Index No. ...

1. @

{ii)

(iii)

(i)

oo & g1 8 Om aedulen OnS. Bl On eyl 8580 eoud dus evd B8uwnn ecgxim.

B HIILLBaTET LN (ppsmLBBST . Ly Gemet] WFsalLBSEIE0E @ Gratl Saman Dsbets) Geiimidhd
G’ Qe senendF BaFfdbes.

The bar given below is incomplete. Add one or more rests to complete the bar.

n * *
'{ ‘ I 1 | }‘ 1 t,
| Fan] | { [ fan} d | o
AN "] S . I}
(Y] | 4 - e 4

C o®ul dot et 88mded B 8desiDde w1 88 emid O BH0 dod e € o fedded Bowinm.
C Gupaflsy Qprafd enweanflar & HoBamsaangupd sSigrin Brm’ Bensiu b Weallb @epred SILLE Gsien ebl s Geb

STUHHIS.
Wrile the key signature of the Tonic minor of C major and the leading note as a Minim in the given stave.

50¢ef ecm 2Tz 00 @ g, e eem gnd g nd BReds! alcs 3@ 6D wodn meEtas »® woim.
et 22 1b @msswreds SULLULE6T, 9 SBssT GraiGs@limeful Bnbsd CeTaiil smpieudbes Apsolh
gadantdh GO 2 usFaméorsiempl LuwfBa.
Name an instrument where two reeds are bound together and the sound is produced by blowing through the
reeds which are held tightly between the lips.

FBecd on B 88e530ds omig B 88mded etnBmzid T emid derd 60 cwlesd 95 codFoolxst & o
B3edbed Eusim.

F &8enta, & HaCenday sydlwebenmil uwusiu@Gdhs B eowenfled 7 sugl Qumibdlaneiit. Garl Eed qpl Gimdlagei
g aifaisetsd Sriw Hsien el B0 eSS,

In the given stave write the Dominant 7% chord of B minor in semi-breves in root position using F clef
with key signature.

0333

J

[ & &n® 208 Rede. / udk. 8 gl ungss / See page 8
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v)

(vi)

(vii)

(ix)

(x)

(viil) ‘Dozazm ZoiB Bow afeq 00y 8 wowm. du PUBwE ¢, wD0d: ¢ culx agwsd Duim.

16858 com g ‘2ol Byl e580° cbrn mg @ednd goed 83 w.dmuwr b g 98cH emicel dmes

& B8dedifewit B mdsis.

1685 @b 1mbEs Geurl i W adel’” siapsiu LTTS WHHH0 auTphS Ens SLdh@ar aapsiu LTLsowbTer
Cwmyerd geienmd GlaTaii @reLmilwurensu’ uwffas.

Name the oratorio which contain a popular chorus written in the Baroque period by the composer born in
1685 and who wrote “Water music suite”.

ethriet) erni® derd ©8eid O endecs! Jednd wdsim.
GLraGLT Gumbisd snulCsrrl. GlenenF FMmESWNTS sllauflsEHs.
Describe in brief the Episode in Rondo Form.

Buremied ¢ emngdd Seam euden 8 md, da ewmigr axisn 50 8hded adewd e O Acet® wgws’

s,
dwrGamelel apILGS dpameaudsd STemUUBGD Gursd @even’t GLWALEG, HG@al LWSTUGHEID Gurgl

eOaUfSHEET FhohHIEE giuBl unginisers nfiiGes.
Name the pedal on the extreme right of a piano and describe its effect when used.

‘puraan SO eelim LT snevd CETERIL BILSGmEL QUUfiBs. oim BIFSSHUr  Disbeogl  BIL&LWT

slsiiugHamands SR TGS.
Name the drama which has the song “ Vasana Dineki”. State whether it is a Nurthi or a Nadagama.

som 8906 68 8D dewmy’ ® & ¢ Werd Do Borim.
&1p S Paiten svepmIsmer oibhd LIF @GBW sl Esiien HGearl Gy a(psis.
Write the following notes in the same pitch in the given clef.

s —

o HLT L | )
F 4N N L f .Y 1 | 1 -~
[ an WE N I ] ¥ r 4 1 ri
AN o o & CR—|

.J ; - o v -

oom & g8 880 guinde mHE =d, 88 guidbnst O B M ded Bosim.
&G HICN Feitent ervaly GeH_iOaist @ewert GUULE, oipa EeiBeuTagemen Gaibm UMb sUpEIS.
Name the given interval and write its inversion in the empty bar.

) [ |
il I | |
Z il | |
= i

[ 9 &8 BEP Bemm. / uk. 9 i uriss / See page 9
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2. “(i)

(ii)

(i1)

Fadecd ewic, 8 8desiDced abisd mndsd g8 otie®rSd @85 desE o gredinea o adedines n@nd
@00 OE S Buslm. debid ewig eededinel s mostw.

F AGsml @emens uwieiuGsa, & HECensaflen mmeiig egnlisenerd Gerai@ amriGoreaids snwmy erobamsd
Eenenr pCyraEem, SbyrEsm (penpulst GETTFFFL Esv aupsus. abevfsrhd CFIhg QFSmeiehd ma @nids.
Using the F clef, write the harmoenic minor scale having four sharps in the key signature, ascending and
descending in crotchets. Mark semitones with slurs.

2Bulnd Sgonc 080 8 F 08mb 8 o500 swigy som S 4y o@cBuwd St wdiuls. yuiSe &l on
@000 S0 08 mJd i etdl emdd dmes 001 emil O ece Bu BOCE geed edud Oz ewee
odylies wdmim,

SUeyer. 1gujush enmd @6l F emoemflsdr erbeupnusensmlt LwisiiuBhal 4 unfsensnd Gemami Gol Gl msiiens
SHEGHS. Sms un] SRewenr GOITFFTL o L &1 ewL  UswisriL Boitsm GFTLLL  GHOyrEFFTL gpsiienm  Giymeid
GrIL o5 etapg FfwTar GuUgorsagalsh CFsibl geiienmd Cajds LLsaTiILBSHEIS.

Compose a 4 bar melody using the notes of F minor in Compound duple time. Complete the last bar with
the Tonic note as a dotted crotchet tied to a crotchet and a rest of correct value.

[ & an
ANDY

Y,

B tie1d otB@msid O ofudl dedes adedives o eedina pP0D audBeditcs ewic G dect dexd
Bonim.

B Jdemml GLmden e Simow|b Gomi ebGsemsy oeuCrreen, Crisen (wpenpullsh s Gisinsberd
Carhm G a8emy F@ed sTpEIs.

Write in the G clef, the major scale descending and ascending of which the B flat is the Dominant. Use
accidentals.

2 g5 DOmOED e®iemiedimes wifm 2i8s] Bl 00 HY@reia monim.
HIULL (B6iTsn QFTmEEnse ClorGsmErTe gatempl LWsEUBHS FhoHe CHFeLLOTIENs BidHE&HS.
Write a rhythm pattern on a monotone to the given words.

Down yonder green valley
Where streamlets meander,
When twilight is fading,
I pensively rove,

[ 10 &:® 899 Deeie. / vk, 10 gl unss / See page 10
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(i) & B .80 2ehs 98edder gnEs egdE Secd smgien® mdn Gasim.
Sl Geien @enstl QuUUITTenL gabGLsl epelumidbd Gwsurd 1prush el GFHH e aIpEIS.
Rewrite the given extract an octave higher in the treble clef.
- -
4 X hl 2
). ;

|
258

AX%

(i) & B e®EDo 896 w1 5ud o & 18 088 Hdewiswd emd HO1080 Hecd ewigren mIedt) T DD
Brawiw.
SICILE (Feiten Glosvigemus soapld, GQrerdl. syadlwenimi e Syl Geiten enpb H&CarFambe emow Furs
HBens CHTHEI Sl ordad e eIIpHIS.
Rewrite the given melody with notes and rests correctly grouped according to the given time signature.

- . .\ 3 N 3 [y [y N
- e e e s
AN 1 7 2 3 x < <

()

4. oo € B wddn Bedho alvome @0 gt 418 gdnicED 88nct oewzim.
&8 Hyiu Geiten Bengtl QUWITLNUS SHm BHL sl Beiten lamEsEndd alenl sT(HHIH.
Study the musical extract given below and answer the questions.

pZ /5\3 /—34 5.'/.______\6

Y 1
L S S M Y 2 i 1 N T i 0
» T} S i iy } i o . =
N
T i i L 77 ; Y 1
T A T - 1 5—
\
e T e R s s ==
o -y
— — ] »—

25 - | 1 I i- — | ] i —

| | - I

i ) b [ C— 1 ! . v -
:@ﬁi z » } 5 _r“““'j_"‘?lé z s j ]
()] ' I Y s 3
——s———FF et
*i .
75— i - | —
— — = L I : ﬁ D'! i ] l } » 1
13 14 15 16 17 18
/?i'__\ /3-—\
. -t H 1 1l { 1 | ;\ 1
. et
& 4 T [
——— ™ — - — i 1 —1
| ' T LA U [

[ 11 & B femm. / udk. 11 @i uniss / See page 11
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0]

(ii)

(i)

(iv)

)

(vi)

(vii)

(viii)

(ix)

(2) @@® 3.8 Dedtic vDxs ol B O e ¢? (b) & ezt &5 8 On O piwim.

(2) @bs Besl Guuty absd & B CIMLRGADS? (b) sm wyapn & ool GiuwfiGs.

(a) In which key does the music begin? (b) Name the key in which the extract ends.

2 T P PR
) T PSPPSRy S PP,

e®® .8 metted 088 Sderitdn Bund wosim.
@bs @asl Guuitiis: b AsCamsssny alaflbgs.
Describe the time signature of this music extract.

@®8 mifc Chm o cled, 8t 88 O Biideis 8868 eresde 88 1797 com Gig ed@ids goed
edmgon B88. udnumed »HE Hemil dexd yog doimed Busim.

Geginoei 65 Gemen sydbaw GLendEGRiLemn 1797 @b phsaumorar Gmorsigd wisdhdlsn S b Ee
QmeuyTsd @bs Bred spSILLLE. s syb@anfls GQuusny abGsry @b QUIGSSTer Gt hHled sIIpSHIS.
This piece was written by a Romantic period composer born in 1797 who was credited with creating the
German Lied. Write the composer’s name in the appropriate place in the score.

3 B2 2ol Dot 80 4 Om 2l O ey A ece Bcna ©F gif edtules mH8 nd, B O eews! noED.
3 oozl umfledphal 4 queim un eeogulsy A aard @GPl Beiten CaLsiiey @emerl GLWACE, &

Benend GBILLIGS.
Name the cadence used in bars 3 to 4 marked as A and state the key.

9 O 5 Do 8BS 10 B &0l & e B oces e 0 o etdslnn m® »d, B O agwst mdsim.
9 eyeumi Unfledmba 10 @ieg ury ausnpuilsd B elend @EULILLC Getsm Galsdied Bemel GLwifiC @, &

Bemend GHBHUIGS.
Name the cadence used at bar 9 to 10 marked as B and state the key.

3 0 b 50 ooyl i Py, simile scre Bund wosim.
3 syeum UTT @pos Sprsasien ), simde aap @ulimL slafsgs.
Explain the sign B, stmile given below bar 3.

=88 Seided 6015 B Yot B8 oD O enldedil el Borlds, ]
@bs Reoait Guyinted Cunellsr & Esit afigiy CETI. @evean GiFblgCaams eTPHIS. E

Write the leading note of the tonic key of this piece as a semiguaver.

@00 ©.8m Aeihn eeiheld edd SemB Diema pe gn o demil derd g Eomad vgens g
eDBes guitiess Souim.
@hs @l Quulsu Gom Gy Guet B Hansss Coemph. abGar] @el CUTGHSWIS SSEHIBE

ghn alsdhdsd GRLEUT EengCaage Smean (LSS,
This music extract should be played at a moderate pace. Write the appropriate tempo indication at the correct
place in the score.

208 aeited ewic 1B eedBuel #00 meids ewdenst Bund wosim.
Bsmall QLTI LLSLBSSIUL Baten SiCrauleof ebeufit LGHLF Shbars alolflsgns.
Briefly describe the irregular note group used in the music extract.

-
[ 12 808 BOP Bgetm. / udb. 12 g unjss / See page 12
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(x)

(ii)

(iii)

-

2 a1B anded (5) wdws! md 1B ©.dn daded stodE @il »d wbn Burlm. uldld mo® ¢ ved
HBI0OHE D o8 HouH.

Sy’ Geirem Urflsd (5) @l oo’ Beiten LQFush ebLel @6v (pgeoTong 6L foist Genal
gensill Slein_Teustamsmsn @efraufl. Qg WemBLh epHis.

Invert the intervals of the given bar (5) in the Treble stave and name the first inverted interval,

AT R

Hf g8 o5 —

™=

o

I VI

BN s TSl BN 1L i=) 2 | D O RN

D sl Boslm. eBnmid T 8n exntdunnd sdens exigsim.
#Bp syl Goiten Geblsied 1y eHDGEIB. @ CHLeED G wiSHFAND Grmdersn. 7 eumeE GlHE.
Write the following cadences. Use the Dominant 7% chord in one of them.

@ 4 O’
) o)
W.d ,"

Perfect cadence in G minor Interrupted cadence in D major

528 eealud gusl BEad AN ewgens 088 e@cle ulytiear norm. vigern edBewd, egi. a
D88eded esmpes Byulies e@ED0O ® swicmim.

@Cr uteriuTeusniohs cilenl g Sewn GloTaenpll LWsSLGES Sbs Glosuy Seamsill UTemlGagis. GUTEHISHIDTeT
GrtbBumr, GuAm, ent sndded gaul @RSl yren Gosgdss Cafds.

Complete the melody by adding an answering phrase in the same style. Add suitable marks of tempo,
phrasing and dynamics to the complete melody.

4

_

| ol v

S8 woe— e e FStr
4
-]
| Fan
NS
e

wnm B@5i0d wdgbaccst Gusim.
(siten(pid gemTEIosi ard 83 (PAPSHOUITS  6T(IDHIS.

Write out the following ornaments in full.

o Al

[,

#OND

[13 686 809 Bemm. / us. 13 gl urrds / See page 13
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o
6. (0 (1),2) o 3) ece & 18 oD go Sefmd wosfm. 1) w9 5) ecn ¢S i go O ogesm
e Soxlm, edi® geEm® swig com endd cSbsim.
* (1), (2),(3) s Syl Heten Gmm_ Gsodmtusener  elaufidegs. (4), (5) asm Geodssli (i Baien sroeM e
£ Gungpdhmioren Gmm wmeman  siapsws. 2 Brmosi Esobemssnent LWSLBEHS Gom smars  @iiiGs.
Describe the given chords numbered (1), {2) and (3). Under each of the notes numbered (4) and (5) write a suitable

chord. Indicate the chords using roman numerals.

(1) ) 3 @®H 6

— [
A~ e i o= _

Gy S SCEE

Chord indications - — - —_ —

{

hy
\]
\
piki

f
:

T _‘*

TN
TN

(i) € 218 oudly w.dn £$bd B08J 0By HodDet wiotmme moxm.
HrU Geiien EemiphCHw Beng adauprismst GLMESHSHL e sroauriiEenTs GLomGE T &HES.
Convert the given oriental notation fo western notation.

S’ e

B® ® 3 R af B OO ad _e_aés@zfi@as@@

(i) & @B 08 HBoE »® wd, 8@ IS ewig oxlrn I 8D (cdhnd) DLEnd wdsls.
Bieorknsseiiu Coembissl [Braensil QUM (G, Semea LUSTUBSSUILGD LisGam FheTiutmanaT (6fprdse)

eWleuif s b.
Name four Sri Lankan drums and describe various occasions where these drums are used.

[14 & BED Qedm. / uks. 14 mu unjds / See page 14
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7. (1) & g1 odce wlglties mowis.
ST Bsitem Lhdenuwill | LTl ILiBaHdIs.
Complete the given paragraph. *
Ludwig Van Beethoven was a ........c.ccoiciiiiiiiiiiiionn, period composer born in ...l .
He was called the .......oooiiiiiinin e . He wrote .............. sonatas
and ... Symphonies of which the ................ona . Symphony has a chorus in

the last movement. He became ......................cee. at the latter part of his life.

(i) oo mSOE fo emic eom, 801 0O BE Buwdsl w1 ID @ Dived mBst ¢8 scwst mduim.
LsaI@pld  ETe0EEHsT dpsenpd Qfatrls, oemean bl SaF YSEGUIHMmNLD D6l  6iikb
ENa0E6T  sTaTLIenSHUD U IBs.

Select three of the following compositions and give the composer and the type of work,

Name of composition Compose Type of work
The Trout Quintet

1
2. | Musicforthe Royal Fireworks
3. | The Hebrides Overture

4. | Rigoletto

(iii) eom Q&)ﬁf) 88mdr eensin.
UlsiraugneuemauByst sTensu@Lgnild apaiiibE slspL. sIpSIS.
Answer three of the following;

(a) Explain the term “transposing instruments”; naming two such instruments.
(b) What instruments are used in a String Quartet?
{c) Name two percussion instruments of definite pitch.

(d) Name three instruments found in the woodwind section of the orchestra and state the clef which each
one usually employs.




